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(A) B E= LB A 100N/ MEH R DRI DFEEND 71 D FRAEKRN/m) (E) #HEEMIEREZ DX DHFRD 5 DR KIEKN/ m) %gé%ﬁgéﬁgqu*z&)%@;f;_laéfui—féjg _E il AR =
AT ess B WARA o RRO RN PR ) | | EACEGRSSLuR LB asnm sy | Pt PED AR
D) OB LHEEMIAEAT 2BEDLEZNESM) H QB LHZEEMAERTSBEDLEZEDHS(M) DREFENSTET HIENTED,
HETHELYTHDLEEDHOKRES BEMEADLEEDADKES
RHES # =
(A) (B) © (D) (E) (F) @) (H) (A) B) ©) (D) (E) (F) @) (H)

1) 157.2 1.0 99.1 1.0 16.1 3.2 15.0 3.0 157.2 1.0 96.9 1.0 16.1 3.2 14.8 29

(2) 160.1 1.0 99.7 1.0 16.5 3.3 15.1 3.0 160.1 1.0 96.9 1.0 16.5 3.3 14.9 3.0

(3) - - 87.7 1.0 - - 94 1.9 - - 81.7 1.0 - - 9.4 1.9

( 4) 107.8 1.0 99.0 1.0 - - 11.1 22 107.8 1.0 96.9 1.0 - - 11.1 22

(5) 116.6 1.0 99.0 1.0 - - 13.3 26 116.6 1.0 97.9 1.0 - - 13.3 26

( 6) 122.4 1.0 99.6 1.0 - - 13.3 26 122.0 1.0 99.0 1.0 - - 13.3 26

7)) 106.2 1.0 98.8 1.0 - - 11.0 22 106.2 1.0 96.9 1.0 - - 11.0 22

( 8) - - 79.0 1.0 - - 10.0 20 - - 79.0 1.0 - - 10.0 20

(9) - - 814 1.0 - - 10.0 20 - - 76.0 1.0 - - 10.0 20

(10) 113.7 1.0 99.7 1.0 - - 11.0 22 113.7 1.0 96.9 1.0 - - 11.0 22

(11) - - 945 1.0 - - 13.6 27 - - 945 1.0 - - 13.6 27

(12) 106.7 1.0 99.3 1.0 - - 14.4 28 106.7 1.0 97.0 1.0 - - 14.4 28

(13) 110.9 1.0 99.0 1.0 - - 13.4 27 110.9 1.0 97.0 1.0 - - 13.4 27

(14) - - 81.8 1.0 - - 8.2 1.6 - - 81.8 1.0 - - 8.2 1.6

2 /2 BiR2




